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load Im
load tm

for each line in file
do forward step
do backward step
print results
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edge[0][“<s>"] = NULL, score[0][*<s>"] =0

for end in 1 .. len(line) # BEEDIR TR
score[end] = {}

edgelend] = {}

for beginin 0 .. end — 1 # BEEDRIRS
pron = substring of line from begin to end  # V'S HNEDERD XN = ES
my _tm = tm_probs[pron] # OSNEDEREE - TIRERE
If there are no candidates and len(pron) ==
my_tm = (pron, 0) # KHEBLSOSNEZEZNTE
for curr_word, tm_prob in my _tm # DJEETLEREE& 71|28

for prev_word, prev_score in score[begin] # BIDEEEE ZFDHEXR(CXTL T
# RN AT &EEE
curr_score = prev_score + -log(tm_prob * P (curr_word | prev_word))

If curr_score is better than scorel[end][curr_word]
scorelend][curr_word] = curr_score
edgelend][curr_word] = (begin, prev_word)
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train-bigram.py test/06-word.txt > 1lm.txt
train-hmm.py test/06-pronword.txt > tm.txt
kkc.py lm.txt tm.txt test/06-pron.txt > output.txt

IEf# : test/06-pronword.txt
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